
  
 
   SET-1 
 
Unique Paper Code  :  62275504 
Name of the Paper  : Principles of Microeconomics 
Name of Course : CBCS BA/B.Com (Prog.) core , GE 
Semester  : V 
Maximum Marks : 75 

                                                    Duration                          :           3 hours 
 

Note: Answers may be written either in English or in Hindi, but the same medium should be used 
          throughout the paper 
 
fVIi.kh% bl iz”ui= dk mÙkj vaxzsth ;k fgUnh fdlh ,d Hkk’kk esa nhft,] ysfdu lHkh mÙkjksa dk ek/;e ,d 

    gh gksuk pkfg,A 
 

Instructions for Candidates : 
vH;fFkZ;ksa ds fy, funsZ”k%   
     Attempt any four questions. 

fdUgha pkj iz”uksa ds mRrj nhft,A 
     All questions carry equal marks. 

lHkh iz”uksa ds vad leku gSA 
 
Q.1 (i) Explain how production possibility curve illustrates scarcity, choice and opportunity cost. 
      (ii)"An increase in the demand for notebooks raises the quantity of notebooks demanded but not the 

quantity supplied" is this statement true or false? Explain.                                                     (9+9.75)      
(i) mRiknu laHkkouk oØ dSls nqyZHkrk ]pquko rFkk volj ykxr dks Li"V djrk gS o.kZu dhft,A^^                    
(ii)"uksVcqd dh ekax esa o`f) ls ekax dh xbZ uksVcqd dh ek=k c<+ tkrh gS ysfdu iwfrZ dh xbZ ek=k ughâ ^ ;g dFku lgh gS ;k 
xyr\ O;k[;k djsaA 

    

Q.2 (i) Describe the relationship between total revenue and the price elasticity of demand.         
(Diagrams are required ) 

          (ii) Consider a public policy aimed at smoking, studies indicate that the price elasticity of demand 
for cigarettes is about 0.4 .If a pack of cigarettes currently costs $2 and the government wants to 
reduce smoking by 20%, by how much should it increase the price (10.75+8) 

(i)dqy vkxe rFkk ekax dh dher yksp ds e/; laca/k dk o.kZu dhft,A ¼ js[kkfp= vko';d gSa½                       
(ii) /kweziku ds mís'; ls ,d lkoZtfud uhfr ij fopkj djsa] v/;;uksa ls ladsr feyrk gS fd flxjsV dh ekax dh dher 
yksp yxHkx 0-4 gSA ;fn flxjsV ds ,d iSdsV dh dher orZeku esa $ 2 gS vkSj ljdkj /kweziku dks 20% rd de djuk 
pkgrh gS] rks mls fdruh dher c<+kuh pkfg,\                                 

          
 

Q.3  (i) How does a tax on a good affect the price paid by the buyers, the price received by the sellers, 
and the quantity sold?     

(ii) In a supply and demand diagram , show producer and consumer surplus in the market 
equilibrium.                                                                                                                                                                                     

(9.75+9)  

(i) fdlh oLrq ij dj dk Øsrkvksa }kjk Hkqxrku dh xbZ dher] foØsrk }kjk çkIr dher vkSj csph xbZ   

ek=k dks fdl çdkj çHkkfor djrk gS\ 



                       (ii) iwfrZ vkSj ekax vkjs[k esa] cktkj larqyu esa mRiknd vkSj miHkksäk vf/k'ks"k fn[kk,aA    

Q.4      (i) Explain the price effect, income effect and substitution effect of a price change for a normal 
commodity using suitable diagram.       

(ii) Suppose marginal utility of good X is 20 while its price is  Rs. 4 per unit and marginal utility of  
Y good is 50 while its price is Rs.5 per unit .The individual to whom this information applies is 
spending 20 on each good .Is he maximizing his satisfaction.?                                          (12+6.75)  

(i) eku yhft, fd oLrq X dh lhekar mi;ksfxrk 20 gS tcfd bldh dher 4 #i;s çfr bdkbZ vkSj Y oLrq dh lhekar 
mi;ksfxrk 50 gS tcfd bldh dher 5 #i;s çfr bdkbZ gSA ftl O;fä ij ;g tkudkjh ykxw gksrh gS og çR;sd oLrq ij 
20 [kpZ dj jgk gSA D;k og viuh larqf"V dks vf/kdre dj jgk gS? 

(ii) mfpr js[kkfp= dk ç;ksx djrs gq, ,d lkeku oLrq dh dher esa ifjorZu dk dher çHkko vk; çHkko rFkk çfrLFkkiu 
çHkko dk o.kZu dhft,A 

Q.5  (i) Describe the relationship between short run and long run average total cost. 

            (ii) Draw a production function that exhibits diminishing marginal product of labour. Draw the 
associated total cost curve .Explain the shape of the two curves you have drawn.      (9+9.75) 

(i) vYidkyhu vkSj nh?kZdkyhu vkSlr dqy ykxr ds chp laca/k dk o.kZu djsA 

(ii),d mRiknu Qyu cukb, tks Je ds ºzkleku lhekar mRikn dks çnf'kZr djrk gksA  lac) dqy ykxr oØ cuk,aA 
vkids }kjk [khaps x, nks oØksa ds vkdkj dh O;k[;k djsaA                          

Q.6 Bring out the essential difference in the nature of equilibrium of a firm under perfect competition in 
the short run and in the long run.                                      (18.75) 

       vYidky rFkk nh?kZdky esa iw.kZ çfr;ksfxrk ds varxZr ,d QkeZ ds larqyu dh ç—fr esa vko';d varj dks Li"V dhft,A 

 
  
 


